VILLAGE OF SOUTH LEBANON, OHIO RESOLUTION NO. 2019-53

A RESOLUTION APPROVING AND AUTHORIZING A FISCAL YEAR 2020 (FY2020) COMMUNITY DEVELOPMENT BLOCK GRANT (CDBG) APPLICATION IN COOPERATION WITH THE UNION TOWNSHIP BOARD OF TRUSTEES AND FURTHER AUTHORIZING THE COMMITMENT OF FUNDS TO SAID PROJECT, AND DECLARING AN EMERGENCY

WHEREAS, the deadline for FY2020 CDBG applications to be delivered to the Warren County Office of Grants Administration is January 10, 2020; and,

WHEREAS, Lebanon Road between Pike Street and Corwin Nixon Boulevard is the boundary line between the Village and Union Township; and

WHEREAS, the Village and the Union Township Board of Trustees desire to apply for the said FY2020 CDBG for the rehabilitation of Lebanon Road [extending from Pike Street to Corwin Nixon Boulevard] with Union Township acting as the lead applicant; and,

WHEREAS, the estimated cost of each Project is as follows:

Project	Village Engineer's
	Cost Estimate
Lebanon Road	\$259,414.00
Improvements	

WHEREAS, if CDBG funding is awarded, the Union Township Board of Trustees has committed \$20,000 to the construction of this Project; and

WHEREAS, immediate action is required for the Village to timely submit a FY2020 CDBG application which is due no later than Friday, January 10, 2020, and such action is necessary in order to preserve the public peace, health, safety or welfare of the Village.

NOW, THEREFORE, BE IT RESOLVED by the Council of the Village of South Lebanon, Ohio, at least two-thirds of all members elected thereto concurring:

<u>Section 1</u>. That the Council approves and authorizes a FY2020 CDBG application for the Lebanon Road Project in cooperation with the Union Township Board of Trustees with the Township being the Applicant , a copy of which is attached hereto.

<u>Section 2.</u> That the Village Council hereby approves the commitment of \$39,414 to the Lebanon Road CDBG Project..

<u>Section 3</u>. That the recitals contained within the Whereas Clauses set forth above are incorporated by reference herein.

<u>Section 4</u>. That this Resolution is hereby declared to be an emergency measure in accordance with Ohio Rev. Code § 731.30 for the immediate preservation of the public peace, health, safety and general welfare; and, this Resolution shall be in full force and effective immediately upon its passage.

<u>Section 5.</u> That it is found and determined that all formal actions of the Council concerning and relating to the adoption of this Resolution were adopted in an open meeting of Council in compliance with all legal requirements, including Section 121.22 of the Ohio Revised Code.

110.

Adopted this day of December, 2019. Attest: Nicole Armstrong, Fiscal Officer/Clerk	James D. Smith, Mayor
Rules Suspended: / /2019 (if applicable)	Effective Date - / /2019
Vote Yeas Nays	
First Reading – / /2019	Effective Date - / /2019
Second Reading / /2019	
Third Reading- / /2019	
Vote Yeas	
Nays	

Prepared by and approved as to form:

PAUL R. REVELSON
VILLAGE SOLICITOR
SOUTH LEBANON, OHIO

Ву: ____

Date: 12/19/2019

LEBANON ROAD IMPROVEMENTS UNION TOWNSHIP, WARREN COUNTY PRELIMINARY CONSTRUCTION ESTIMATE

					December 3, 2019
ITEM		UNIT OF	APPROX.	UNIT	TOTAL
NO.	DESCRIPTION	MEASURE	QTY.	COST	COST
201	CLEARING AND GRUBBING	LUMP	1	\$5,000.00	\$5,000.00
202	REMOVALS/SAWCUTTING	LUMP	1	\$7,000.00	\$7,000.00
202	CURB REMOVED	FT.	200	\$8.00	\$1,600.00
253	FULL-DEPTH PAVEMENT REPAIR	S.Y.	85	\$100.00	\$8,500.00
254	2" PAVEMENT PLANING, ASPHALT CONCRETE	S.Y.	4100	\$5.00	\$20,500.00
304	AGGREGATE BASE (UNDER SIDEWALK AND DRIVES)	C.Y.	60	\$75.00	\$4,500.00
407	TACK COAT @ 0.075 GAL/SY	GAL.	330	\$5.00	\$1,650.00
441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG64-22	C.Y.	230	\$200.00	\$46,000.00
452	6" NON-REINFORCED CONCRETE PAVEMENT	S.Y.	140	\$70.00	\$9,800.00
606	GUARDRAIL	FT.	75	\$30.00	\$2,250.00
608	CURB RAMPS	S.F.	800	\$15.00	\$12,000.00
608	4" CONCRETE WALK	S.F.	4000	\$7.00	\$28,000.00
609	TYPE 6 BARRIER CURB	FT.	500	\$25.00	\$12,500.00
611	TYPE 2-2B CATCH BASIN	EACH	3	\$2,000.00	\$6,000.00
611	15" STORM SEWER	FT.	600	\$70.00	\$42,000.00
630	SIGNAGE	LUMP	1	\$1,000.00	\$1,000.00
638	FIRE HYDRANT EXTENDED AND ADJUSTED TO GRADE	EACH	2	\$1,000.00	\$2,000.00
644	EDGE LINE	MILE	0.27	\$4,000.00	\$1,080.00
644	CENTER LINE	MILE	0.54	\$4,000.00	\$2,160.00
659	SEEDING AND MULCHING	S.Y.	1600	\$2.00	\$3,200.00
	CONSTRUCTION SUBTOTAL				\$216,740.00
	10% CONTINGENCY				
	SURVEYING/ENGINEERING/CONSTRUCTION OBSERVATION AND ADMINISTRATION				
	PROJECT GRAND TOTAL				



We make no warranty, express or implied, that the actual construction cost of the work associated with these estimated quantities and costs will not vary. The cost reflects our opinion of current probable construction cost. This estimate was calculated assuming prevailing wage rates.

Nicholas J. Selhorst, P.E.

Date